N9034U
N9034

IA
N
o
o

EN 1176}

u

=l

\__3-14 J

N\
100

7

87

N RNA
PLAYGROUNDS G)
designed for sustainable and creative play )

07-08-2023 / Rev.: B



2200
1300

N9034U

N9034

‘ 8044

800

400

11044

~7800

~3900

o
~
Lo
N~
r
9h 60 m? 11x7,6x300m ~521 kg ~0,76 n? @10/12 x 300 cm 26 kg
N NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.






N9034U
N9034

o AN
o
)8
o
(@)
(@)
D,
N~
Tp)
<t
Te]
S ~ ~ S
()] o ¥ -~ © <
& 2 3% 8 g 525 3
N -~ o - AN «
1559 |
0
804
829 I
844
915
993
fogr— L
1250
2230 —5—
3210
3400
3465
3518
3616
3558
4460 ]
6019
[ee]
= 52 ~ e N~ nw 9 ¥
Y ©8 g y§ 823§

5587




N9034U

N9034

L1014 L1016

L1018 P2012

— 7 54218

L1011

N3103U

W

N3102U N3210U LE20528
B LE15910
| T~
Parts List
QTY PART NO DESCRIP.
6 L1011 CL204
6 L1014 8x50mm
6 |L1016 @5x1000mm /Q 4
12 L1018 4,0x35 mm
2 LE15901 3x16, PH
1 LE15910 Name tag
1 N9033U - — 1 1
8 LE20528
1 N3102U -
1 N3103U - LE15901
1 N3210U -
2 P2012 @10/12
2 S4218 3600x3600x3600mm




® ()6 j
<m_§:zm *3 \\1 #+E5 | .

<2

& ot

=z

(o B

01-06-2023 / Rev.: A



|, 250
1230

N3210U

N3210

2443

S

2100 |

/Max kg/cm

800
I

#19

5443

o
o
~
o}
2 2h 25,8 m? 54x51x025m  ~79kg ~0,15 ni @10/12 x 210 cm 19 kg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



N3210U
N3210

S22532

D12158

RS00675

Parts List

QTY PART NO DESCRIP.

1 §22532 Taifun

RS00675 @100/120

2 D12158 @100-120mm, Assembled




‘250
1230

-

N3210U

N3210

800

1570

1960

3530

—

1695

2053

3748




D12158

Parts List
QTY PART NO DESCRIP.
2 D12158 @100-120mm, Assembled
8 L1101 M16 sleeve nut
4 L1102 M16 Threaded rod
4 L1103 @37mm
8 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
8 LE16502 Spacer 6mm
3 LE16599 Sealtite 970 1,5ml
4 RS00675 @100/120
1 S22532 Taifun

N3210U

N3210

LE16599

L1101

LE16502

LE13100

L1103

L1102

L1101

S$22532

Iﬂ
=

LE15901



N3103U

N3103

IA
N
o
o

EN 1176}

u

=l

N RNA
PLAYGROUNDS G)
designed for sustainable and creative play )

01-06-2023 / Rev.: A



1630

N3103U

N3103

3147

o
o
S
o =0)
o
™0
- |0
52 () ED uou H
o | O
AN
o
o
w \
N #19
4651
1o}
3
©

4,7x6,1x22m ~96 kg

1
(1]

@10/12 x 300 cm

27 kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



RS00708 — ™~

,/y
N
TV00015

N3103U

N3103

RS00709 )

M

D12177 |
Parts List
QTY PART NO DESCRIP.

1 D12177 @100-120-2100mm

1 D12178 @10/12

1 RS00708 210/12

1 RS00709 @100-120-2100mm

1 RS00711 310/12

1 TV00015 Taifun

D12178

RS00711



2200

1300
955

400
200

N3103U

N3103

) "o" =

800

1687

1578

1163

\\\¥*#19

1386

2772

4459

3073




N3103U

N3103

D12178
L1101 (/\(/
L1103 T
L1102 RS00709
L1101 \\\\\22?9&£\\
\\\~69 RS00711
LE16599
RS00708

YN
LE15910 ]

TV00015

RS00708 @10/12

RS00709 @100-120-2100mm

RS00711 @10/12

LE15901
TV00015
Parts List
QTY | PARTNO DESCRIP.

1 D12177 @100-120-2100mm
1 D12178 @10/12
8 L1101 M16 sleeve nut
4 L1102 M16 Threaded rod
4 L1103 @37mm —
2 |LE13100 Shackle
2 |LE15901 3x16, PH
1 LE15910 Name tag
2 |LE16502 Spacer 6mm LE16599
2 |LE16599 Sealtite 970 1,5ml LE13100 LE13100
1
1
1
1

TV00015 Taifun




NORLEG <600
Robinia balancepzel éﬁ%ﬂ
LE 20528 T \

17.11.2010 REV. - >EN 1176

100-500 mm

1:10

Denne tegning er NORLEG's ejendom, og ma ifalge
geeldende lov ikke kopieres, overlades eller udnyttes

af 3. mand. Sker dette, skal det paregnes, at der vil

blive opkraevet et honorar pa 10% af formodet entreprisesum.




NORLEG - 3D
Robinia Balancepeel
LE 20528

17.11.2010 REV. -

Denne tegning er NORLEG's ejendom, og ma ifalge
gaeldende lov ikke kopieres, overlades eller udnyttes

af 3. mand. Sker dette, skal det paregnes, at der vil

blive opkraevet et honorar pa 10% af formodet entreprisesum.




NORLEG - Mont. <600

Robinia Balancepael %%?:1

LE 20528 T N
17.11.2010 REV. - >EN 1176
Parts list
Mrk. QTY Part.no S
0
1 1 160-180-0800/1100 8
T o
=
2
o
[ee]
o
o
<e]
=)
o
<
1

1:10

Denne tegning er NORLEG's ejendom, og ma ifalge
geeldende lov ikke kopieres, overlades eller udnyttes

af 3. mand. Sker dette, skal det paregnes, at der vil

blive opkraevet et honorar pa 10% af formodet entreprisesum.




